Thursday, April 19, 2018 1:04 PM

5th term 
$$\rightarrow$$
 plug in  $n = 5$   $\rightarrow \frac{(0.1)}{11} \approx 9.09.(10)$ 

$$(3) \sum_{n=4}^{\infty} \left( \frac{\ell_{nn}}{3^{n+7}} \right).$$

$$\frac{1}{Root + test:} \frac{3n+7}{||a_n||} = \frac{||a_n||^n}{||3n+7||} = \frac{||a_n||^n}{||3n+7||}$$

$$\lim_{n\to\infty} \sqrt{|a_n|} = \lim_{n\to\infty} \left| \frac{\ln n}{3n+7} \right| = \lim_{n\to\infty} \left| \frac{\ln n}{3n+7} \right|$$

$$=\lim_{n\to\infty}\left|\frac{\frac{1}{n}}{3}\right|=\lim_{n\to\infty}\left(\frac{1}{3n}\right)=0<1$$

\_\_\_ converger.

$$0 \le x < 1$$
: converges

$$\sum_{n=0}^{\infty} \frac{n(n+1)(n+2)}{6^n} \left(x-\pi\right)^n$$

Find R.O.C.

Ratio Test: 
$$\frac{a_{n+1}}{a_n} = \frac{(n+1)(n+3)(x-\pi)}{6^{n+1}n(n+1)(x-\pi)^n}$$

$$\frac{a_{n+1}}{a} = \frac{(n+3)(x-\pi)}{6n}$$

$$\left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \to \infty}$$

$$\lim_{n\to\infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n\to\infty} \left| \frac{n+3}{6n} \right| \times -\pi \right| = \frac{\left| \times -\pi \right|}{6} < 1$$

( For series to converge )

$$\rightarrow |x-\pi| < 6$$

Radius of Convergence

is 6.

$$\begin{array}{c}
5 \\
\sum_{n=1}^{\infty} \frac{x^n}{\sqrt{n^3+6}}
\end{array}$$

Ratio Test: 
$$\frac{a_{n+1}}{a_n} = \frac{x^{n+1}}{\sqrt{(n+1)^3+6}} \cdot \frac{\sqrt{n^3+6}}{x^n}$$

$$\lim_{n\to\infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n\to\infty} \left( \frac{\sqrt{n^3 + 6}}{\sqrt{(n+1)^3 + 6}} \cdot |x| = |x| < 1$$

Check 
$$x = -1$$
. Series =  $\sum_{n=1}^{\infty} \frac{(-1)^n}{\sqrt{n^3 + 1}} = \sum_{n=1}^{\infty} (-1)^n \cdot \frac{1}{\sqrt{n^3 + 1}}$ 

Check 
$$x = 1$$
. Series =  $\sum_{n=1}^{\infty} \frac{1}{\sqrt{n^3 + 1}}$  behaves

$$\sum_{n=0}^{\infty} \left(\frac{x^2+4}{3}\right)^n \longrightarrow \sum_{N=0}^{\infty} \left(Shiff\right)^n$$

$$1 + \frac{x^{2}+1}{3} + \left(\frac{x^{2}+1}{3}\right)^{2} + \left(\frac{x^{2}+1}{3}\right)^{3} + \cdots$$

$$1 + \frac{x^{2}+1}{3} + \left(\frac{x^{2}+1}{3}\right)^{2} + \left(\frac{x^{2}+1}{3}\right)^{3} + \cdots$$

Common ratio: 
$$\frac{\chi^2+4}{3}$$
.

$$= \frac{1}{1 - \frac{x^2 + 4}{3}}$$

$$\frac{3 - x^2 - 4}{3}$$

$$=-\frac{3}{1+x^2}$$

F) Maclaurin series for 
$$f(x) = e^{-7x}$$

$$e^{u} = \sum_{n=0}^{\infty} \frac{u^{n}}{n!}$$

Thursday, April 19, 2018 1:45 PM

Thursday, April 19, 2018 1:45 PM
$$e^{-\frac{\pi}{2}x} = \sum_{n=0}^{\infty} \frac{(-\frac{\pi}{2}x)^n}{n!} = \sum_{n=0}^{\infty} \frac{(-\frac{\pi}{2})^n \cdot x^n}{n!} = \sum_{n=0}^{\infty} \frac{(-1)^n \cdot x^n}{n!} = \sum_{n=0}^{\infty} \frac{(-$$

$$f(x) = x^8 \cdot \sin x. \quad \text{Taylon series centered at } O.$$

$$f(x) = x^8 \cdot \sum_{n=0}^{\infty} (-1)^n \cdot \frac{x^{2n+1}}{(2n+1)!}$$

$$= \frac{\sum_{n=0}^{\infty} (-1)^n}{(2n+1)!}$$

$$= \sum_{n=0}^{\infty} (-1)^n \cdot \frac{x^{2n+9}}{(2n+1)!}$$

9 Given cot 
$$x = \frac{1}{x} - \left(\frac{x}{3} + \frac{x^3}{45} + \frac{2x^5}{945} + \cdots\right)$$

Q: Find the first 4 terms for the series of ln(sinx)?

$$\frac{d}{dx} \left[ l_n(\sin x) \right] = \frac{\cos x}{\sin x} = \cot x$$

$$= \ln |x| - \left(\frac{x^2}{6} + \frac{x^4}{480} + \frac{x^6}{2835} + \dots \right)$$

(b) 
$$pinx = \sum_{n=0}^{\infty} (-1)^n \cdot \frac{x^{2n+1}}{(2n+1)!} = x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \cdots$$

$$\Delta in\left(\frac{2}{3}\right) = \frac{2}{3} - \frac{2^{3}}{3^{3} \cdot 3!} + \frac{2^{5}}{3^{5} \cdot 5!} - \frac{2^{7}}{3^{7} \cdot 7!} + \cdots$$